
Výpočet tepelného výkonu dle ČSN EN 12831 

Místo: Pardubice

te: -12 °C

Místnost: 
ti: 20 °C 

Ztráta prostupem

SO1 HTie 6,95 2,7 18,77 1 3,45 15,315 0,2 0,25 / / 1 / / / / / 3,83

OZ1 HTie 2,3 1,5 3,45 / / / 1,2 1,25 / / 1 / / / / / 4,31

SN1 Htij 15,6 1,0 15,6 / / / 0,664 / / / / 0,156 / / / / 1,62

PDL Htij 15,6 1,0 15,6 / / / 0,664 / / / / 0,063 / / / / 0,65

Ʃ 32 10,41 332

0,8

Ztráta větráním

Celková tepelná ztráta místnosti: 

Místnost: (101) Jídelna
ti:  20 °C

Ztráta prostupem

SO1 HTie 11,2 2,7 30,11 2 5,7 24,405 0,2 0,25 / / 1 / / / / / 6,10

OZ1 HTie 4,9 1,0 4,9 / / / 1,2 1,25 / / 1 / / / / / 6,13

Ʃ 32 12,23 391

Ztráta větráním

(102) Obýv. Pokoj
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Vmin,i = nmin × Vi = 0,5 × 42,12 = 21,06 m3/h

Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×42,12×5×0,03×1 = 12,64 m3/h

Vi = max (Vinf,i ; Vmin,i)

Hvi = 0,34 × Vi = 0,34 × 21,06 = 7,16 W/K

ΦVi  = Hvi × (θint-θe ) = 7,16× [20-(-12)] = 230W

Φi  = Φti  + ΦVi  = 350+230 = 580 W
H

T
 (

W
/K

)

Φ
ti

 (W
)

Vmin,i = nmin × Vi = 0,5 × 58,32 = 29,16m3/h

Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×58,32×5×0,03×1 = 17,50 m3/h

Vi = max (Vinf,i ; Vmin,i)

e 
(-

)

b
u
,f

ij
  (

-)

f g
1 

(-
)

f g
2 

(-
)

G
w

 (
-)

θ
in

t-
θ

e 
(°

C
)

P
lo

ch
a 

ot
vo

rů
 

(m
2)

P
lo

ch
a 

b
ez

 
ot

vo
rů

 (
m

2)

U
k
 (

W
/m

2 .K
)

U
k

b
=

U
k
+
Δ

U
k

b

U
eq

u
iv

,b
f 

(W
/m

2.
K

)

B
´ 

(-
)



Celková tepelná ztráta místnosti: 

(103) Vstupní hala
ti:  18 °C

Ztráta prostupem

SO1 HTie 7,28 2,7 19,66 2 6,65 13,006 0,2 0,25 / / 1 / / / / / 3,25

OD1 HTie 1,6 2,1 3,28 2 / / 1,6 1,65 / / 1 / / / / / 5,41

OZ1 HTie 2,25 1,5 3,375 / / / 1,2 1,25 / / 1 / / / / / 4,22

SN2 Htij 3,58 2,7 9,666 / / / 1,16 / / / / -0,067 / / / / -0,75

SN3 Htij 1,55 2,7 4,185 1 1,478 2,7075 1,16 / / / / -0,067 / / / / -0,21

ND1 Htij 0,75 1,97 1,478 / / / 2 / / / / -0,067 / / / / -0,20

STR1 HTie 3,58 3,7 13,25 / / / 0,22 0,27 / / 1 / / / / / 3,58

Ʃ 30 15,30 459

Ztráta větráním

Celková tepelná ztráta místnosti: 

Místnost: 
ti: 20 °C

Ztráta prostupem

Hvi = 0,34 × Vi = 0,34 × 29,16 = 9,91 W/K

ΦVi  = Hvi × (θint-θe ) = 9,91 × [20-(-12)] = 320W

Φi  = Φti  + ΦVi  = 400+320 = 720 W

Místnost: 
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Vmin,i = nmin × Vi = 0,5 × 27,81 = 13,9m3/h

Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×27,81×5×0,03×1 = 8,34 m3/h

Vi = max (Vinf,i ; Vmin,i)

Hvi = 0,34 × Vi = 0,34 × 13,9 = 4,7 W/K

ΦVi  = Hvi × (θint-θe ) = 4,7 × [18-(-12)] = 145W
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Φi  = Φti  + ΦVi  = 460+145 = 605 W
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SO1 HTie 8,13 2,7 21,95 2 5,55 16,401 0,2 0,25 / / 1 / / / / / 4,10

OZ1 HTie 1,45 1,5 2,175 / / / 1,2 1,25 / / 1 / / / / / 2,72

OZ2 HTie 2,25 1,5 3,375 / / / 1,2 1,25 / / 1 / / / / / 4,22

SN2 Htij 3,58 2,7 9,666 / / / 1,16 / / / / 0,063 / / / / 0,70

SN2 Htij 2,6 2,7 7,02 / / / 0,29 / / / / 0,438 / / / / 0,89

PDL Htij 4,5 3,6 16,11 / / / 0,49 / / / / 0,063 / / / / 0,49

STR1 HTie 4,5 3,6 16,11 / / / 0,22 0,27 / / 1 / / / / / 4,35

Ʃ 32 17,47 559,1

Ztráta větráním

Celková tepelná ztráta místnosti: 

Místnost: 
ti: 24 °C
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(107) Koupelna

Vmin,i = nmin × Vi = 0,5 × 35,1 = 17,55m3/h

Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×35,1×5×0,03×1 =10,53 m3/h

Vi = max (Vinf,i ; Vmin,i)

Hvi = 0,34 × Vi = 0,34 × 17,55 = 6,0 W/K

ΦVi  = Hvi × (θint-θe ) = 6,0 × [20-(-12)] = 200W

Φi  = Φti  + ΦVi  = 560+200 = 760 W



Ztráta prostupem

SO1 HTie 1 2,7 2,7 1 0,275 2,425 0,2 0,25 / / 1 / / / / / 0,61

OZ2 HTie 0,55 0,5 0,275 / / / 1,2 1,25 / / 1 / / / / / 0,34

SN1 Htij 3,3 2,7 8,91 / / / 0,5 / / / / 0,111 / / / / 0,50

SN1 Htij 2 2,7 5,4 1 1,182 4,218 1,16 / / / / 0,111 / / / / 0,70

DN1 Htij 1,97 0,6 1,182 / / / 2 / / / / 0,111 / / / / 0,26

SN1 Htij 2,1 2,7 5,67 / / / 0,5 / / / / 0,5 / / / / 1,42

PDL Htij 4,7 1,00 4,7 / / / 0,49 / / / / 0,5 / / / / 1,15

Ʃ 36 4,97 179

Ztráta větráním

Celková tepelná ztráta místnosti: 

Místnost: 
ti: 20 °C

Ztráta prostupem
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Φi  = Φti  + ΦVi  = 180+240 = 420 W

Φ
ti

 (W
)

Vmin,i = nmin × Vi = 1,5 × 12,67 = 19m3/h

Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×12,67×5×0,03×1 =3,8 m3/h

Vi = max (Vinf,i ; Vmin,i)

Hvi = 0,34 × Vi = 0,34 × 19 = 6,46 W/K

ΦVi  = Hvi × (θint-θe ) = 6,46 × [24-(-12)] = 240W
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SO1 HTie 5,0 2,7 13,37 2 4,35 9,015 0,2 0,25 / / 1 / / / / / 2,25

OZ4 HTie 4,35 1,0 4,35 / / / 1,2 1,25 / / 1 / / / / / 5,44

SN2 Htij 4,85 2,7 13,1 1 1,182 11,913 1,16 / / / / 0,438 / / / / 6,05

DN1 Htij 1,97 0,6 1,182 / / / 2 / / / / 0,438 / / / / 1,03

SN1 Htij 3,4 2,7 9 / / / 0,5 / / / / -0,125 / / / / -0,57

PDL Htij 15,3 1,00 15,3 / / / 0,49 / / / / 0,063 / / / / 0,47

32 14,67 469

Ztráta větráním

ΦVi  = Hvi × (θint-θe ) = 21,07 × [20-(-12)] = 675 W

Celková tepelná ztráta místnosti: 

Místnost: (110) Chodba
ti: 20 °C

Ztráta prostupem

SN1 Htij 1,45 2,7 3,915 1 1,478 2,4375 0,29 / / / / 0,063 / / / / 0,04

DN1 Htij 0,75 1,97 1,478 / / / 2 / / / / 0,063 / / / / 0,18

SN1 Htij 1,85 2,7 4,995 1 1,379 3,616 1,16 / / / / -0,125 / / / / -0,52

DN1 Htij 0,7 1,97 1,379 / / / 2 / / / / -0,125 / / / / -0,34

SN1 Htij 2,2 2,7 5,94 2 2,758 3,182 1,16 / / / / 0,438 / / / / 1,61

DN1 Htij 0,7 1,97 2,758 / / / 2 / / / / 0,438 / / / / 2,41

PDL Htij 11,5 1,00 11,5 / / / 0,49 / / / / 0,438 / / / / 2,47

Ʃ 32 5,85 187

Ztráta větráním
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Vmin,i = nmin × Vi = 1,5 × 41,31 =62m3/h

U
k

b
=

U
k
+
Δ

U
eq

u
iv

,b
f 

(W
/m

2.
K

)

B
´ 

(-
)

e 
(-

)

b
u
,f

ij
  

f g
1 

(-
)

O
zn

ač
en

í s
tě

n
y

S
ou
č.

 t
ep

. Z
tr

át
y

D
él

k
a 

(m
)

Š
íř

k
a,

 v
ýš

k
a 

(m
)

A
k
-P

lo
ch

a 
(m

2)

P
oč

et
 o

tv
or
ů

 

P
lo

ch
a 

ot
vo

rů
 

(m
2)

Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×41,31×5×0,03×1 =12,4 m3/h

Vi = max (Vinf,i ; Vmin,i)

Hvi = 0,34 × Vi = 0,34 × 62 = 21,07 W/K

Φi  = Φti  + ΦVi  = 470+675= 1145W

Φ
ti

 (W
)

Vmin,i = nmin × Vi = 0,5 × 31,5 =15,75m3/h

Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×31,5×5×0,03×1 =9,45m3/h
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Celková tepelná ztráta místnosti: 

____________________________________________________________________________________________________________________________________________________

2. NP

Místnost: 
ti: 20 °C

Ztráta prostupem

SO1 HTie 10,40 2,7 28,08 2 5,6 22,48 0,2 0,25 / / 1 / / / / / 5,62

OZ5 HTie 3,75 1,5 5,625 / / / 1,2 1,25 / / 1 / / / / / 7,03

STR2 Hiue 21,6 1,0 21,6 / / / 0,22 / / / / 0,719 / / / / 3,42

Ʃ 32 16,07 514

Ztráta větráním

Celková tepelná ztráta místnosti: 

Místnost: 
ti: 20 °C

Ztráta prostupem

SO1 HTie 8,90 2,7 24,03 1 3,45 20,58 0,2 0,25 / / 1 / / / / / 5,15

OZ6 HTie 2,3 1,5 3,45 / / / 1,2 1,25 / / 1 / / / / / 4,31

Vi = max (Vinf,i ; Vmin,i)

Hvi = 0,34 × Vi = 0,34 × 15,75 = 5,36 W/K

ΦVi  = Hvi × (θint-θe ) = 5,36 × 20-(-12)] = 172W

Φi  = Φti  + ΦVi  = 190+172= 362W
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Vmin,i = nmin × Vi = 0,5 × 58,3 =29,15m3/h

Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×58,3×5×0,03×1 =17,5m3/h

Vi = max (Vinf,i ; Vmin,i)

Hvi = 0,34 × Vi = 0,34 × 29,15 = 9,91 W/K

ΦVi  = Hvi × (θint-θe ) = 9,91 × [20-(-12)] = 320W

Φi  = Φti  + ΦVi  = 520+320= 840W
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STR2 Hiue 15,6 1,0 15,6 / / / 0,22 / / / / 0,719 / / / / 2,47

Ʃ 32 11,92 382

Ztráta větráním

Celková tepelná ztráta místnosti: 

Místnost: 
ti: 20 °C

Ztráta prostupem

SO1 HTie 2,90 2,7 7,83 1 1,478 6,3525 0,2 0,25 / / 1 / / / / / 1,59

DO1 HTie 0,75 2,0 1,478 / / / 1,6 1,65 / / 1 / / / / / 2,44

SN1 Htij 1,85 2,7 4,995 1 1,379 3,62 1,16 / / / / -0,125 / / / / -0,52

DN1 Htij 0,7 1,97 1,379 / / / 2 / / / / -0,125 / / / / -0,34

SN1 Htij 2,2 2,7 5,94 1 1,379 4,56 1,16 / / / / 0,438 / / / / 2,31

DN1 Htij 0,7 1,97 1,379 / / / 2 / / / / 0,438 / / / / 1,21

STR2 Hiue 11,5 1,00 11,5 / / / 0,22 / / / / 0,719 / / / / 1,82

Ʃ 32 8,50 272

Ztráta větráním

Vmin,i = nmin × Vi = 0,5 × 42,1 =21,05m3/h
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Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×42,1×5×0,03×1 =12,63m3/h

Vi = max (Vinf,i ; Vmin,i)

Hvi = 0,34 × Vi = 0,34 × 21,05 = 7,16 W/K

ΦVi  = Hvi × (θint-θe ) = 7,16 × [20-(-12)] = 230W

Φi  = Φti  + ΦVi  = 390+230= 620W

(203) Chodba
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Vmin,i = nmin × Vi = 0,5 × 31,1 =15,55 m3/h

Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×31,5×5×0,03×1 =9,47m3/h

Vi = max (Vinf,i ; Vmin,i)

Hvi = 0,34 × Vi = 0,34 × 15,55 = 5,28 W/K

e 
(-

)

b
u
,f

ij
  (

-)

f g
1 

(-
)

f g
2 

(-
)

G
w

 (
-)

θ
in

t-
θ

e 
(°

C
)

P
lo

ch
a 

ot
vo

rů
 

(m
2)

P
lo

ch
a 

b
ez

 
ot

vo
rů

 (
m

2)

U
k
 (

W
/m

2 .K
)

U
k

b
=

U
k
+
Δ

U
k

b

U
eq

u
iv

,b
f 

(W
/m

2.
K

)

B
´ 

(-
)

ΦVi  = Hvi × (θint-θe ) = 5,28 × [20-(-12)] = 170W



Celková tepelná ztráta místnosti: 

Místnost: (205) Koupelna + WC
ti: 24 °C

Ztráta prostupem

SO1 HTie 2,00 2,7 5,4 2 0,55 4,85 0,2 0,25 / / 1 / / / / / 1,21

OZ3 HTie 0,55 0,5 0,55 / / / 1,2 1,25 / / 1 / / / / / 0,69

SN1 Htij 1,85 2,7 4,995 1 1,379 3,616 1,16 / / / / 0,111 / / / / 0,47

DN1 Htij 0,7 1,97 1,379 / / / 2 / / / / 0,111 / / / / 0,31

SN1 Htij 3,4 2,70 9,18 / / / 0,5 / / / / 0,5 / / / / 2,30

SN1 Htij 3,4 2,70 9,18 / / / 0,5 / / / / 0,111 / / / / 0,51

STR2 Hiue 5,6 1,00 5,6 / / / 0,22 / / / / 0,719 / / / / 0,89

Ʃ 36 6,36 229

Ztráta větráním

Celková tepelná ztráta místnosti: 

Místnost: 
ti: 20 °C

Ztráta prostupem
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Φi  = Φti  + ΦVi  = 280+170= 450W
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Vmin,i = nmin × Vi = 0,5 × 15,1 =7,55 m3/h

Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×15,1×5×0,03×1 =4,53m3/h

Vi = max (Vinf,i ; Vmin,i)

Hvi = 0,34 × Vi = 0,34 × 7,55 = 2,57 W/K

ΦVi  = Hvi × (θint-θe ) = 2,57 × [24-(-12)] = 95W

Φi  = Φti  + ΦVi  = 230+95= 325W

f g
1 

(-
)

f g
2 

(-
)

G
w

 (
-)

(206) Pokoj

če
n

í s
tě

n
y

. t
ep

. Z
tr

át
y

D
él

k
a 

(m
)

k
a,

 v
ýš

k
a 

(m
)

-P
lo

ch
a 

(m
2)

et
 o

tv
or
ů

 

P
lo

ch
a 

ot
vo

rů
 

(m
2)

P
lo

ch
a 

b
ez

 
ů

 (
m

2)

 (
W

/m
2 .K

)

(-
)

G
w

 (
-) (°
C

)

 (
W

/K
)

(W
)

+
Δ

U
k

b

eq
u

iv
,b

f 

(W
/m

2.
K

)

B
´ 

(-
)

e 
(-

)

ij
  (

-)

(-
)



SO1 HTie 9,80 2,7 26,46 2 4,35 22,11 0,2 0,25 / / 1 / / / / / 5,53

OZ3 HTie 1,45 1,5 4,35 / / / 1,2 1,25 / / 1 / / / / / 5,44

SN1 Htij 3,4 2,7 9,18 / / / 0,5 / / / / -0,125 / / / / -0,57

STR2 Hiue 19,2 1,00 19,2 / / / 0,22 / / / / 0,719 / / / / 3,04

Ʃ 32 13,43 430

Ztráta větráním

Celková tepelná ztráta místnosti: 

Místnost: (001) Posilovna
ti: 20 °C

Ztráta prostupem

SO1 HTie 10,40 1,0 10,4 2 1,5 8,9 0,2 0,25 / / 1 / / / / / 2,23

OZ3 HTie 1 0,8 1,5 / / / 1,2 1,25 / / 1 / / / / / 1,88

SN1 HTie 10,40 1,5 15,6 / / / 0,21 / / / 1 / / / / / 3,28

SN1 Htij 4,0 2,50 10,00 / / / 0,5 / / / / 0,063 / / / / 0,31

SN1 Htij 1,4 2,50 3,50 1 1,478 2,0225 0,5 / / / / 0,438 / / / / 0,44

DN1 Htij 0,8 1,97 1,48 / / / 2 / / / / 0,438 / / / / 1,29

SN1 Htij 4,0 2,50 10,00 / / / 1,16 / / / / 0,063 / / / / 0,73

PDL Htig 21,6 1,0 21,6 / / / 0,2 / 0,17 5 / / 1,45 0,509 1 / 2,71

Ʃ 32 12,86 412

Ztráta větráním

Celková tepelná ztráta místnosti: 
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Vmin,i = nmin × Vi = 0,5 × 51,7=25,9 m3/h

U
k

b
=

U
k
+
Δ

U
eq

u
iv

,b
f 

(W
/m

2.
K

)

B
´ 

(-
)

e 
(-

)

b
u
,f

ij
  

f g
1 

(-
)

Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×51,7×5×0,03×1 =15,54m3/h

Vi = max (Vinf,i ; Vmin,i)

Hvi = 0,34 × Vi = 0,34 × 25,9 = 8,8 W/K

ΦVi  = Hvi × (θint-θe ) = 8,8 × [20-(-12)] = 285W

Φi  = Φti  + ΦVi  = 430+285= 715W

O
zn

ač
en

í s
tě

n
y

S
ou
č.

 t
ep

. Z
tr

át
y

D
él

k
a 

(m
)

Š
íř

k
a,

 v
ýš

k
a 

(m
)

A
k
-P

lo
ch

a 
(m

2)

θ
in

t-
θ

e 
(°

C
)

H
T
 (

W
/K

)

Φ
ti

 (W
)

Vmin,i = nmin × Vi = 0,5 × 54 =27 m3/h

Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×54×5×0,03×1 =16,2m3/h

Vi = max (Vinf,i ; Vmin,i)
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Hvi = 0,34 × Vi = 0,34 × 27 = 9,18 W/K

ΦVi  = Hvi × (θint-θe ) = 9,18 × [20-(-12)] = 300W



Místnost: 
ti: 18 °C

Ztráta prostupem

SO1 HTie 6,95 1,0 6,95 1 0,75 6,2 0,2 0,25 / / 1 / / / / / 1,55

OZ3 HTie 1 0,8 0,75 / / / 1,2 1,25 / / 1 / / / / / 0,94

SN1 HTie 6,95 1,5 10,43 / / / 0,21 / / / 1 / / / / / 2,19

SN1 Htij 4,2 2,50 10,50 1 1,478 9,0225 1,16 / / / / 0,4 / / / / 4,19

DN1 Htij 0,8 1,97 1,48 / / / 2 / / / / 0,4 / / / / 1,18

SN1 Htij 4,0 2,50 10,00 / / / 0,5 / / / / -0,067 / / / / -0,33

STR Htij 15,8 1,00 15,80 / / / 0,49 / / / / -0,067 / / / / -0,52

PDL Htig 15,8 1,0 15,8 / / / 0,2 / 0,17 5 / / 1,45 0,477 1 / 1,86

Ʃ 30 11,05 332

Celková tepelná ztráta místnosti: 

Místnost: 
ti: 18 °C

Ztráta prostupem

Φi  = Φti  + ΦVi  = 420+300= 720W

(002) Prádelna
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Vmin,i = nmin × Vi = 0,5 ×39,5 =19,75 m3/h

Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×39,5×5×0,03×1 =11,85m3/h

Vi = max (Vinf,i ; Vmin,i)

Hvi = 0,34 × Vi = 0,34 × 19,75 = 6,72 W/K
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ΦVi  = Hvi × (θint-θe ) = 6,72 × [18-(-12)] = 205W

Φi  = Φti  + ΦVi  = 345+205= 550W

(003) Garáž
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SO1 HTie 8,25 1,0 8,25 3 4,2 4,05 0,2 0,25 / / 1 / / / / / 1,01

OZ3 HTie 1 0,8 0,75 / / / 1,2 1,25 / / 1 / / / / / 0,94

DO2 HTie 2,7 2,5 6,75 / / / 2,3 2,35 / / 1 / / / / / 15,86

SO1 HTie 4,20 1,50 6,3 / / / 0,21 / / / 1 / / / / / 1,32

SN1 Htij 6,0 2,50 15,00 1 1,478 13,5225 0,5 / / / / 0,4 / / / / 2,70

DN1 Hiue 0,75 1,97 1,5 / / / 0,2 / / / / 0,4 / / / / 0,12

STR Htij 13,9 1,00 13,94 / / / 0,49 / / / / -0,067 / / / / -0,46

PDL Htig 23,7 1,0 23,7 / / / 0,2 / 0,17 5 / / 1,45 0,477 1 / 2,78

Ʃ 30 24,29 729

Ztráta větráním

ΦVi  = Hvi × (θint-θe ) = 10,07 × [18-(-12)] = 305W

Celková tepelná ztráta místnosti: 
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Vmin,i = nmin × Vi = 0,5 × 59,25 =29,63 m3/h

Vinf,i = 2× Vi × N50 ×Ei×Ɛ = 2×59,25×5×0,03×1 =17,77m3/h

Vi = max (Vinf,i ; Vmin,i)

Hvi = 0,34 × Vi = 0,34 × 29,63 = 10,07 W/K

Φi  = Φti  + ΦVi  = 790+310= 1100W
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